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lgk;d v/;kid fiNys o"kks± ds gy iz'u&i= dk fo'ys"k.k pkVZ

fgUnh

Ø- la- v/;k; dk uke 2019 2018

1. vifBr x|ka'k@i|ka'k 2 2

2. fgUnh lkfgR; dky % dfo] ys[kd o mudh jpuk,¡ rFkk iqjLdkj 5 -

3. okD; ds Hksn - 2

4. laKk - 1

5. loZuke 1 -

6. o.kZ fopkj 1 1

7. fo'ks"k.k 1 -

8. fyax] opu o dkjd 1 1

9. fØ;k - 1

10. izR;;] milxZ] rRle] rn~Hko ns'kt 'kCn 3 4

11. okP;] lekl ,oa vyadkj 3 3

12. okD;ka'k 1 3

13. lekukFkhZ o foykse 'kCn 1 1

14. fojke fpÊ 1 -

15. jl - 1

English

Ø- la- v/;k; dk uke 2019 2018

1. Comprehension Prose/Poetry 2 2
2. The Sentence 2 1
3. Articles - 1
4. Noun : Gender - 1
5. Pronoun 1 -
6. Verb 1 -
7. Conjunction - 1
8. Preposition - 1
9. Tense 1 -
10. Common Error 1 -
11. Spelling 1 -
12. Prefix & Suffix - 1
13. Voice - 1
14. Narration 1 1

laLÏr

Ø- la- v/;k; dk uke 2019 2018

1. vifBr i|ka'k 1 2

2. o.kZ ifjp;] laKk izdj.ke~ ,oa vO;; 2 3
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Ø- la- v/;k; dk uke 2019 2018

3. lekl izdj.k 2 2

4. laf/k - 1

5. izR;;@milxZ 1 2

6. /kkrq :i 2 -

7. lwfDr 1 -

8. i;kZ;okph 'kCn 1 -

foKku

Ø- la- v/;k; dk uke 2019 2018

1. nSfud thou esa foKku - 1

2. xfr 1 1

3. cy 1 -

4. ÅtkZ - 2

5. nwjh - -

6. izdk'k - -

7. /ofu 1 -

8. thoksa dh nqqfu;k 1 1

9. ekuo 'kjhj - 1

10. LokLF; - -

11. LoPNrk - -

12. LoPNrk ,oa iks"k.k - -

13. i;kZoj.k ,oa izkÏfrd lalk/ku - 1

14. inkFkZ ,oa inkFkZ dh voLFkk,¡ 1 1

15. vEy 1 -

16. {kkj ,oa yo.k - -

17. /kkrq ,oa v/kkrq 1 -

18. foVkfeu 1 1

TOTAL 8 9

xf.kr

Ø- la- v/;k; dk uke 2019 2018

1. vadh; {kerk ,oa LFkk;heku 1 1

2. xf.krh; lafØ;k,¡ 2 -

3. n'keyo ,oa fHkUu 2 2

4. C;kt 1 1

5. ykHk&gkfu 1 1

6. izfr'kr 1 1
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Ø- la- v/;k; dk uke 2019 2018

7. vuqikr ,oa lekuqikr 1 1

8. {ks=Qy ,oa vk;ru 5 2

9. vkSlr 1 -

10. chtxf.kr 2 5

11. ,fdd fu;e - 1

12. T;kfefr 1 3

13. lkaf[;dh 2 1

14. dSysaMj - 1

i;kZoj.k ,oa lkekftd v/;;u

Ø- la- v/;k; dk uke 2019 2018

1. i`Foh dh lajpuk - -

2. ufn;k¡ - 1
3. ioZr - 1
4. egk}hi - 1
5. egklkxj o tho 1 -

6. izkÏfrd laink 1 -

7. v{kka'k vkSj ns'kkUrj 1 1
8. lkSje.My 1 2
9. Hkkjrh; Hkwxksy - 1
10. Hkkjrh; Lora=rk laxzke 2 1
11. Hkkjrh; lekt lq/kkjd 1 -

12. Hkkjrh; lafo/kku 2 1
13. gekjh 'kklu O;oLFkk - -

14. ;krk;kr ,oa lM+d lqj{kk - -

15. Hkkjrh; vFkZO;oLFkk ,oa pqukSfr;k¡ 2 1
16. gekjh lkaLÏfrd fojklr 1 -

17. i;kZoj.k laj{k.k - 2
18. izkÏfrd vkink izca/ku - -

19. jk"Vªh; m|ksx 1 -

20. canjxkg 1
TOTAL 13 13

f'k{k.k dkS'ky
Ø- la- v/;k; dk uke 2019 2018

1. f'k{k.k dh fof/k;k¡ ,oa dkS'ky 2 2

2. f'k{k.k vf/kxe ds fl¼kUr 1 1
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Ø- la- v/;k; dk uke 2019 2018

3. orZeku Hkkjrh; lekt ,oa izkjfEHkd f'k{kk 1 3
4. lekos'kh f'k{kk 1 -
5. izkjfEHkd f'k{kk ds uohu iz;kl 3 3

6. 'kSf{kd ewY;kadu ,oa ekiu 1 -

7. vkjfEHkd iBu dkS'ky - 1
8. 'kSf{kd izca/ku ,oa iz'kklu 1 -

cky euksfoKku

Ø- la- v/;k; dk uke 2019 2018

1. oS;fDrd fofHkUurk 1 0

2. cky fodkl dks izHkkfor djus okys dkjd 2 2
3. lh[kus dh vko';drk dh igpku 0 1
4. i<+us ds fy, okrkoj.k dk l`tu djuk 0 1

5.
lh[kus ds fl¼kUr rFkk d{kk f'k{k.k esa budh O;kokgkfjd mi;ksfxrk 
,oa iz;ksx

4 4

6. fnO;kax Nk=ksa gsrq fo'ks"k O;oLFkk iz;ksx 3 2

lkekU; Kku@lelkekf;d ?kVuk,¡

Ø- la- v/;k; dk uke 2019 2018

1. vUrjkZ"Vªh; 2 2

2. jk"Vªh; 2 2
3. izns'k ls lEcfU/kr egRoiw.kZ ?kVuk;sa 2 1
4. LFkku - 2
5. O;fDrRo 2 2

6. jpuk;sa 2 1

7. vUrjkZ"Vªh; jk"Vªh; iqjLdkj 2 2
8. [ksy&dwn 2 3
9. Hkkjrh; laLÏfr ,oa dyk 2 2
10. jk"Vªh; m|ku 1 1
11. gSIihbUMsDl 1 1

12. lEiznk; 1 1
13. u`R; 2 2

14. vkfo"dkjd 1 2

15. dEI;wVj 1 1
16. egRoiw.kZ fnol - 2

TOTAL 23 27
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rkfdZd Kku

Ø- la- v/;k; dk uke 2019 2018

1. lkn`';rk ijh{k.k 1 1

2. dksfMax&fMdksfMax 2 1
3. jDr lEcU/k 1 1
4. fn'kk ijh{k.k 1 1
5. J`a[kyk ijh{k.k - 1

lwpuk rduhdh

Ø- la- v/;k; dk uke 2019 2018

1. f'k{k.k dkS'ky fodkl 0 0

2. d{kk f'k{k.k rFkk fo|ky; izca/ku ds {ks= esa lwpuk rduhdh 1 0
3. dEI;wVj 2 3
4. bUVjusV 1
5. LekVZQksu 1 0

6. vks bZ vkj (vksiu ,tqds'kuy fjlkslZ) 0 0

7. f'k{k.k esa mi;ksxh ,WIl 0 1
8. fMftVy f'k{k.k lkexzh ds mi;ksx dh tkudkjh 1 0

thou dkS'ky] izca/ku ,oa vfHko`fÙk

Ø- la- v/;k; dk uke 2019 2018

1. thou dkS'ky 2 1

2. O;olkf;d vkpj.k ,oa fu;fr 1 2
3. izsj.kk 3 0

4.
f'k{kd dh Hkwfedk (lqfo/kkiznkrk] vuqJo.kdrkZ] usr`RodrkZ) 
ekxZn'kZd] ijke'kZnkrk

1 3

5. laoS/kkfud vkSj ekuoh; ewY; 3 3

6. naM ,oa iqjLdkj O;oLFkk dk izHkkoh iz;ksx 0 1
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dk;kZy; lfpo m- iz- csfld f'k{kk ifj"kn~ bykgkckn }kjk izdkf'kr

ifj"knh; izkFkfed fo|ky;ksa esa lgk;d v/;kid ds fjDr inksa ij  

fu;qfDr ds lEcU/k esa izLrkfor f'k{kd HkrhZ ijh{kk dh fo"k;oLrq

ijh{kk dk le; % 3:00 ?k.Vs iw.kk±d % 150
iz'u dk izdkj % vfry?kq iz'uksa dh la[;k % 150

fo"k;oLrq dk Lrj % 
(1) Hkk"kk % fgUnh o vaxzsth] foKku] xf.kr] i;kZoj.k ,oa lkekftd v/;;u d{kk 12 Lrj rdA

(2) f'k{k.k dkS'ky] cky euksfoKku] lwpuk rduhdh] thou dkS'ky@izcU/ku ,oa vfHko`fÙk&Mh- ,y- ,M- ikB~;Øe LrjA

	 fo"k;	 vad	 fo"k;	 vad

Hkk"kk fgUnh] laLÏr rFkk vaxzsth 40

• O;kdj.k ,oa vifBr x|ka'k&i|ka'kA
• Grammar, Comprehension.

foKku 10

• nSfud thou esa foKku] xfr] cy] ÅtkZ] nwjh] izdk'k] /ofu] thoksa 
dh nqfu;k] ekuo 'kjhj] LokLF;] LoPNrk ,oa iks"k.k] i;kZoj.k 
,oa izkÏfrd lalk/ku] inkFkZ ,oa inkFkZ dh voLFkk,¡] vEy] {kkj 
,oa yo.k] èkkrq&v/kkrqA

xf.kr 20

• vadh; {kerk] xf.krh; lafØ;k,¡] n'keyo] LFkkuh; eku] 
fHkUu] C;kt] ykHk&gkfu] izfr'kr] foHkkT;] xq.ku[k.M] ,sfdd 
fu;e] lkekU; chtxf.kr] {ks=Qy] vkSlr] vk;ru] vuqikr] 
loZlfedk;sa] lkekU; T;kfefr] lkekU; lkaf[;dhA

i;kZoj.k ,oa lkekftd v/;;u 10

• i`Foh dh lajpuk] ufn;k¡] ioZr] egk}hi] egklkxj o tho] 
izkÏfrd lEink] v{kka'k vkSj ns'kkUrj] lkSje.My] Hkkjrh; 
Hkwxksy] Hkkjrh; LorU=rk laxzke] Hkkjrh; lekt lq/kkjd] 
Hkkjrh; lafo/kku] gekjh 'kklu O;oLFkk] ;krk;kr ,oa lM+d 
lqj{kk] Hkkjrh; vFkZO;oLFkk ,oa pqukSfr;k¡] gekjh lkaLÏfrd 
fojklr] i;kZoj.k laj{k.k] izkÏfrd vkink izcU/kuA

f'k{k.k dkS'ky 10

• f'k{k.k dh fof/k;k¡ ,oa dkS'ky] f'k{k.k vf/kxe ds fl¼kUr] 
orZeku Hkkjrh; lekt ,oa izkjfEHkd f'k{kk] lekos'kh f'k{kk] 
izkjfEHkd f'k{kk ds uohu iz;kl] 'kSf{kd ewY;kadu ,oa ekiu] 
vkjfEHkd iBu dkS'ky] 'kSf{kd izcU/ku ,oa iz'kkluA

cky euksfoKku 10

• oS;fDrd fHkUurk] cky fodkl dks izHkkfor djus okys dkjd] 
lh[kus dh vko';drk dh igpku] i<+us ds fy, okrkoj.k dk 
l`tu djuk] lh[kus ds fl¼kUr rFkk d{kk&f'k{k.k eas budh 
O;kogkfjd mi;ksfxrk ,oa iz;ksx] fnO;kax Nk=ksa gsrq fo'ks"k O;oLFkkA

lkekU; Kku@lelkef;d ?kVuk,¡ 30

• lelkef;d egRoiw.kZ ?kVuk,¡µvUrjkZ"Vªh;] jk"Vªh;] izns'k ls 
lEcfU/kr egRoiw.kZ ?kVuk,¡] LFkku] O;fDrRo] jpuk,¡] vUrjkZ"Vªh; 
rFkk jk"Vªh; iqjLdkj@[ksy&dwn] Hkkjrh; laLÏfr ,oa dyk vkfnA

rk£dd Kku 5

• Analogies, Assertion and Reason, Binary Logic, 

Classification, Clocks and Calendars, Coded Inequalities, 
Coding-Decoding, Critical reasoning, Cubes and dice, 
Data Interpretation, Direction Sense Test, Grouping and 
Selections, Inferences, Letter Series, Number Series, 
Puzzles, Symbols and Notations, Venn Diagrams.

lwpuk rduhdh 5

• f'k{k.k dkS'ky fodkl] d{kk&f'k{k.k rFkk fo|ky; izcU/ku ds {ks= 
esa lwpuk rduhdh] dEI;wVj] b.VjusV] LekVZQksu] vks- bZ- vkj- 
(vksiu ,tqds'kuy fjlkslZ)] f'k{k.k esa mi;ksxh ,sIl] fMftVy 
f'k{k.k lkexzh ds mi;ksx dh tkudkjhA

thou dkS'ky @ izcU/ku ,oa vfHko`fÙk 10

• O;kolkf;d vkpj.k ,oa uhfr] izsj.kk] f'k{kd dh Hkwfedk (lqfoèkk 
iznkrk] vuqJo.kdrkZ] usr`RodrkZ] ekxZn'kZd] ijke'kZnkrk)] 
laoSèkkfud vkSj ekuoh; ewY;] n.M ,oa iqjLdkj O;oLFkk dk 
izHkkoh iz;ksxA
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fo"k;&lwph

v/;k; i`"B la-

 UNIT-1 : fgUnh 1-67
1. O;kdj.k 1-11

2. milxZ] izR;;] rRle] rn~Hko o ns'kt~ 'kCnksasa dh igpku ,oa muesa vUrj 11-16

3. foykse ,oa lekukFkhZ 'kCn 17-20

4. vusdkFkZd 'kCn 20-22

5. okD;ka'k 22-24

6. eqgkojs ,oa yksdksfDr;k¡ 25-27

7. v'kqf¼;k¡ vkSj mudk la'kks/ku 28-31

8. fgUnh lkfgR; dky% dfo] ys[kd vkSj mudh jpuk,¡ 31-39

9. lfU/k 39-44

10. okP;] lekl ,oa vyadkj ds Hksn 44-49

11. vO;; 49-51

12. jl 51-55

13. NUn 55-60

14. vifBr 60-67

 UNIT-2 : laLÏr 68-120
1. O;kdj.k % o.kZ&ifjp;] laKk izdj.k 68-71

2. 'kCn&fopkj (lqcUr&izdj.k) 71-77

3. /kkrq :i (fr³Ur&izdj.k) 77-82

4. vO;;&in 82-84

5. milxZ% 84-85

6. izR;;% 85-86

7. loZuke] fo'ks"k.k] fyax rFkk okP;&Kku 86-92

8. lfU/k&izdj.k 92-103

9. lekl izdj.k% 103-106

10. foykse 'kCn% 106-108

11. i;kZ;okph 'kCn % 108-108

12. laLÏr vuqokn% 109-112

13. v'kqf¼&la'kks/kue~ 112-116

14. vifBr x|ka'k rFkk i|ka'k 116-120

  UNIT-3 : ENGLISH LANGUAGE 121-166

1. Comprehension 121-124
2. The Sentence 125-126
3. Parts of Speech 126-142
 • Noun 126-129
 • Pronoun 129-132
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 • Adjective 132-135
 • Adverb 135-136
 • Preposition 137-140
 • Conjuction 140-141
 • Interjection 142-142
4. Correct Form of Verb 142-145
5. Articles 145-148
6. Transformation 149-155
 • Active & Passive Voice 149-150
 • Narration 151-155
7. Spelling Test 155-159
8. Clauses 159-161
9. Word Formation 161-162
10. Miscellaneous 162-166

  UNIT-4 : foKku 167-223

1. nSfud thou esa foKku ,oa fof/k;k¡ (Science in Daily Life and Methods)  167-168

2. xfr] nwjh] izdk'k] cy] nkc] /ofu ,oa ÅtkZ (Motion, Distance, Light, Force, Pressure, Sound and Energy) 169-180

3. thoksa dh nqfu;k (World of Organisms) 181-194

4. ekuo 'kjhj % LokLF;] LoPNrk ,oa iks"k.k (Human Body : Health, Cleanliness and Nutrition) 194-208

5. i;kZoj.k ,oa izkÏfrd lalk/ku (Environment and Natural Resources) 208-216

6. inkFkZ ,oa inkFkZ dh voLFkk,¡ (Matter and States of Matter) 217-223

  UNIT-5 : xf.kr 224-326

1. vadh; {kerk ,oa LFkkuh;eku 224-232

2. xf.krh; lafØ;k,¡ 232-236

3. n'keyo ,oa fHkUu 236-245

4. y?kqÙke lekioR;Z ,oa egÙke lekiorZd 245-249

5. ljyhdj.k 250-253

6. C;kt 254-260

7. izfr'krrk 261-265

8. ykHk&gkfu 265-267

9. vuqikr ,oa lekuqikr 267-268

10. le;] pky ,oa nwjh 269-272

11. dk;Z vkSj le; 273-276

12. {ks=Qy ,oa vk;ru 277-288

13. vkSlr 289-291

14. chtxf.kr  291-293

15. lehdj.k ,oa loZlfedk,¡ 294-300

16. ,sfdd fu;e 301-306

17. T;kfefr 307-316

18. lkaf[;dh 317-326
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  UNIT-6 : i;kZoj.k ,oa lkekftd v/;;u 327-487
1. i`Foh dh lajpuk (Structure of Earth) 327-329

2. ufn;k¡ (Rivers) 329-332

3. ioZr (Mountains) 332-333

4. egk}hi (Continents) 334-339

5. egklkxj o tho (Oceans and Creatures) 339-344

6. izkÏfrd lEink (Natural Wealth) 344-347

7. lkSje.My % v{kka'k vkSj ns'kkUrj (Solar System : Latitude and Longitude) 347-351

8. Hkkjrh; Hkwxksy (Indian Geography) 351-364

9. Hkkjrh; LorU=rk laxzke o lekt lqèkkjd (Indian Freedom Struggle and Social Reformer) 364-386

10. Hkkjrh; lafoèkku o gekjh 'kklu O;oLFkk (Indian Constitution and Our Governance) 387-405

11. ;krk;kr ,oa lM+d lqj{kk (Traffic and Road Safety) 406-407

12. Hkkjrh; vFkZO;oLFkk (Indian Economy) 407-428

13. gekjh lkaLÏfrd fojklr (Our Cultural Heritage) 429-436

14. i;kZoj.k laj{k.k (Environment Conservation) 436-438

15. çkÏfrd vkink çcUèku (Natural Disaster Management) 438-441

16. fofo/k (Miscellaneous) 442-487

  UNIT-7 : f'k{k.k dkS'ky 488-548

1. f'k{k.k dh fofèk;k¡ ,oa dkS'ky 488-495

2. f'k{k.k vkSj vfèkxe ds fl¼kUr 495-500

3. orZeku Hkkjrh; lekt ,oa izkjfEHkd f'k{kk 501-507

4. lekos'kh f'k{kk 507-516

5. izkjfEHkd f'k{kk ds uohu iz;kl 516-525

6. 'kSf{kd ewY;kadu ,oa ekiu 525-528

7. vkjfEHkd iBu dkS'ky 528-531

8. 'kSf{kd izcUèku ,oa iz'kklu 531-548

  UNIT-8 : cky euksfoKku 549-590

1. cky euksfoKku  549-553

2. O;fDrxr fofHkUurk 554

3. lh[kus dh vko';drk dh igpku 554-557

4. i<+us ds fy, okrkoj.k dk l`tu djuk 557-559

5. lh[kus ds fl¼kUr rFkk d{kk f'k{k.k esa O;kogkfjd mi;ksfxrk 560-566

6. fnO;kax Nk=ksa gsrq fo'ks"k O;oLFkk 567-590

  UNIT-9 : rkfdZd {kerk 591-676

1. lkn`'; ijh{k.k (Analogy Test) 591-595

2. vfHkdFku rFkk dkj.k (Assertion and Reason) 596
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3. ckbujh ykWftd (Binary Logic) 597-600

4. jDr lEcU/kh ijh{k.k (Blood Relation Test) 600-604

5. oxhZdj.k ijh{k.k (Classification Test) 604-606

6. dSys.Mj (Calendar) 606-608

7. ?kfM+;k¡ (Clocks) 609-611

8. vlekurk (Inequality) 611-615

9. vaxzsth o.kZekyk ijh{k.k (English Alphabet Test) 615-619

10. lkadsfrd Hkk"kk ijh{k.k (Coding/Decoding Test) 619-623

11. foospukRed rdZ'kfDr (Critical Reasoning) 624-628

12. iklk (Dice) 628-634

13. ?ku vkSj ?kukHk (The Cube and Cuboid) 634-637

14. leadksa dk fo'ys"k.k (Data Interpretation) 637-640

15. fn'kk Kku ijh{k.k (Direction Sense Test) 641-646

16. Øep; rFkk lap; (Permutations and Combinations) 646-649

17. x|ka'k vkSj fu"d"kZ (Passage and Inference) 649-651

18. Üka`[kyk ijh{k.k (Series Test) 652-656

19. yqIr in Kkr djuk (Find the Missing Term) 657-659

20. xf.krh;&lafØ;k,¡ (Mathematical-Operations) 659-661

21. osu vkjs[k (Venn Diagram) 662-665

22. igsyh ijh{k.k (Puzzle Test) 665-669

23. cSBd O;oLFkhdj.k ijh{k.k (Sitting Arrangement Test) 669-672

24. Js.kh ijh{k.k (Ranking Test) 673-675

25. 'kCnksa dk rkfdZ d Øe (Logical Sequence of Words) 675-676

  UNIT-10 : lwpuk rduhdh 677-701

1. f'k{k.k dkS'ky dk fodkl  677-701

  UNIT-11 : thou dkS'ky@izcU/ku ,oa vfHko`fÙk 702-708

1. thou dkS'ky 702

2. O;kolkf;d vkpj.k ,oa uhfr 702-704

3. izsj.kk (vfHkizsj.kk) 704

4. f'k{kd dh Hkwfedk (lqfo/kk iznkrk] vuqJo.kdrkZ] usr`RodrkZ] ekxZn'kZd] ijke'kZnkrk) 704-705

5. laoS/kkfud vkSj ekuoh; ewY; 705-706

6. n.M ,oa iqjLdkj O;oLFkk dk izHkkoh iz;ksx 706-708

lkWYOM isij

	&	mÙkj izns'k lgk;d v/;kid ijh{kk] gy&iz'u i= 2019  1-12
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English Language

1. Comprehension
Direction (Q. No. 1 and 2)

Read the passage given below and answer 
the questions. Each question is followed by 
four answers only one of which is correct. 
you have to choose that correct answer.

 To forgive an injury is often considered to be a 
sign of weakness; it is really a sign of strength. 
It is easy to allow oneself to be carried away by 
resentment and hate into an act of vengeance 
but it takes a strong character to restrain those 
natural passions. The man who forgives an 
injury proves himself to be superior of the man 
who wronged him and puts the wrong-doer to 
shame. Forgiveness may even turn a foe into a 
friend. So mercy is the noblest form of revenge.
 1. The word strength is a :
  (A) Abstract noun	 (B) Collective noun
  (C) Common noun	(D) Material noun
 2. One who does not take revenge is :
  (A) a foolish man	 (B) a foe
  (C) a weak man	 (D) a strong man

Direction (Q. No. 3 and 4)
Read the following poem and answer the 
questions set below it.

 She dwelt among the untrodden ways 
 Beside the spring of Dove;
 A maid whom there were none to praise
 And vey few to love.
 A violet by mossy stone
 Half-hidden from the eye!
 Fair as star when only one
 is shining in the sky  
 3. What is the meaning of the word 

‘untrodden’?
  (A) Hidden	 (B) Explicit
  (C) Unexplored	 (D) Explored
 4. Identify the correct figure of speech used 

in the second stanza.
  (A) Alliteration	 (B) Simile
  (C) Metaphor	 (D) Pun

Direction (Q. No. 5 and 6)
Read the passage given below and answer 
the questions that follow it.

Yesterday, two brave children of Gangapur 
were awarded Brave Hearts Award. They have 
exhibited a great spirit of selflessness and cour-
age. Harsh, a twelve-year-old boy, saved a little 
girl from drowning in the river that flows along 

his village. Garima has been awarded for her 
presence of mind.
 5. Which kind of noun is Gangapur ?
  (A) Material noun
  (B) Common noun
  (C)  Collective noun
  (D) Proper noun
 6. Which part of speech is the word ‘brave’ ?
  (A) Adjective (B) Noun
  (C)  Pronoun	 (D) Preposition

Direction (Q. No. 7 to 11)
Read the given passage carefully and answer 
the questions that follow by selecting the 
most appropriate option.

Antarctica is a icy continent in the South Pole. 
It is covered by permanently frozen ground, 
is surrounded by water and is about 1.5 times 
longer than the United States of America.

The world’s largest desert is in Antarctica. 98% 
of the land is covered with a continental ice 
sheet; the remaining 2% of land is barren rock. 
Antarctica has about 87% of the world’s ice. 
The South Pole is the coldest, windiest and 
driest place on Earth. The coldest temperature 
ever recorded on Earth was at the South Pole; 
it reached as low as — 128.6 °F or — 88.0 
°C. On an average most of the Antarctica, 
gets less than 2 inches of snow each year. 
Although scientific expeditions visit Antartica, 
there are no permanent human residents. This 
is because of the extreme weather, which 
includes freezing temperature, strong winds 
and blizzards. There are about 4000 seasonal 
visitors to Antarctica. Antarctica hasn’t always 
been located at the South pole. It has drifted, 
like the other continents and has ranged from 
the Equator during the Cambrian period, about 
500 million years ago to the South Pole. 
During the time of the dinosaurs. Antarctica 
has more temperate and housed dinosaur: and 
many other life-forms. Now there is very little 
indigenous life.

 7. The word ‘icy’ in the passage is a/an
  (A) noun
  (B) adjective
  (C) adverb
  (D) homonym of ‘ice’

 8.8. The word ‘desert’ in the passage is a The word ‘desert’ in the passage is a
  (A) noun (B) pronoun  (A) noun (B) pronoun
  (C) verb (D) verbal  (C) verb (D) verbal
  9. 9. The word ‘windiest’ in the passage is The word ‘windiest’ in the passage is 

aa
  (A) second form of verb  (A) second form of verb
  (B) superlative form of adjective  (B) superlative form of adjective
  (C) superlative form of adverb  (C) superlative form of adverb
  (D) positive form of noun  (D) positive form of noun
  10.10. Has Antarctica always been fixed in the  Has Antarctica always been fixed in the 

South Pole ?South Pole ?
  (A) Yes  (A) Yes
  (B) No  (B) No
  (C) May be  (C) May be
  (D) Not given in the passage  (D) Not given in the passage
 11. 11. Who are the earliest known inhabitants  Who are the earliest known inhabitants 

of Antarctica ?of Antarctica ?
  (A) American scientists  (A) American scientists
  (B) Indian scientists  (B) Indian scientists
  (C) Dinosaurs  (C) Dinosaurs
  (D) It has always been a desert  (D) It has always been a desert

Direction (Q. No. 12 to 16)Direction (Q. No. 12 to 16)
Read the given passage carefully and answer 
the questions that follow by selecting the 
most appropriate option.

The first thing which a scholar should bear 
in mind is that a book ought not to be read 
for mere amusement. Half educated persons 
read for amusement, and are not to be blamed 
for it, they are incapable of appreciating the 
deeper qualities that belong to a really great 
literature.
But a young man who has passed through a 
course of University training should discipline 
himself at an early joy never to read for mere 
amusement. And once the habit of discipline 
has been formed, he will find it impossible 
to read for mere amusement. He will then 
patiently throw down any book from which 
he cannot obtain intellectual food, any book 
which does not make an appeal to the higher 
emotions and to his intellect. But on the other 
side, the habit of reading for amusement 
becomes with thousands of people exactly the 
same kind of habit as wine-drinking or opium-
smoking; it is like a narcotic, something that 
helps to pass the time, something that helps 
to pass the time, something that keeps up a 
perpetual condition of dreaming, something 
that eventually results in destroying all 

UNIT-3



 122   |   

capacity for thought, giving exercise only 
to the surface parts of the mind and leaving 
the deeper springs of feelings and the higher 
faculties of perception unemployed.
 12. The writer believes that half-educated 

persons are not able to
  (A) enjoy wine-drinking
  (B) enjoy dreaming
  (C) think properly
  (D) appreciate hidden qualities of 

admirable literature
 13. The word ‘narcotic’ in the passage 

means
  (A) great literature
  (B) intoxicant
  (C) cheap books
  (D) intellectual exercise
 14. The phrase ‘the higher faculties’ in the 

passage means
  (A) different departments in the 

University
  (B) different ways of enjoying things
  (C) mental powers of a high order for 

understanding great literature
  (D) superficial part of the mind
 15. The word ‘eventually in the passage 

means
  (A) after some time
  (B) at last
  (C) never
  (D) initially
 16. The word ‘unemployed’ in the passage 

means
  (A) jobless
  (B) in search of employment
  (C) not working
  (D) unused

Direction (Q. No. 17 to 21)
Read the given passage carefully and answer 
the questions that follow by selecting the 
most appropriate option.

Helicopters are very different from airplanes. 
They can do three things that airplanes cannot 
do. First, when airplanes move upward, they 
must also move forward, but helicopters can 
move straight up without moving ahead. 
Second, helicopters can fly backward, which 
airplanes cannot do. Third, helicopters can 
use their rotors to hover in the air, which is 
impossible for airplanes. Helicopters can 
perform actions that airplanes cannot, they 
are used for different tasks. Since, helicopters 
can take off without moving forward, they do 
not need a runway for take off. They are used 
in congested areas where there is no room for 
airplanes or in isolated areas, which do not 
have airports. Because they can hover, they are 
used on firefighting missions to drop water on 
fires. They are used in logging operations to lift 

trees out of forests. Helicopters are used as air 
ambulances to airlift patients out of situations, 
which are difficult to reach by conventional 
ambulances. The police used helicopters to 
follow suspects on the ground or to search 
for cars on the ground. Of course, helicopters 
have military uses because of their design and 
capabilities.
 17. The word ‘congested’ in the passage 

means : 
  (A) the place is roomy
  (B) the place has no place
  (C) the place can be accessed by police 

vans
  (D) the place has so much of smoke due 

to fire
 18. A helicopter can hover while an airplane 

cannot, according to the passage. ‘Hover’ 
in the passage means :

  (A) stay at one place in the air
  (B) move straight up in the air
  (C) go backward in the air
  (D)  fly sideways
 19. Point out the grammatical category of the 

word ‘perform’ in the passage.
  (A) Noun (B) Verb
  (C) Adverb (D) Helping verb
 20. Why is a helicopter used as an ambulance ?
  (A) Its movement can be manoeuvred 

easily
  (B) It crosses all difficulties of traffic
  (C) It reaches the inaccessible places 

easily
  (D) It can fire-fight
 21. Point out the grammatical category of the 

word ‘very’ in the passage.
  (A) Adverb (B) Adjective
  (C) Noun (D) Verb

Direction (Q. No. 22 to 26)
Read the given passage carefully and answer 
the questions that follow by selecting the 
most appropriate option.

Work expands so as to fill the time available for 
its completion. The general recognition of this 
fact is shown in the proverbial phrase, it is the 
busiest man who has time to spare.
Thus, an elderly lady at leisure can spend the 
entire day writing a postcard to her niece. An 
hour will be spent in finding the postcard, 
another hunting for spectacles, half an hour to 
search for the address, an hour and a quarter in 
composition and twenty minutes in deciding 
whether or not to take an umbrella when going 
to the pillar-box in the street. The total effort that 
would occupy a busy man for three minutes, all 
told, may in this fashion leave another person 
completely exhausted after a day of doubt, 
anxiety and toil.

 22. What is the total time spent by the elderly 
lady in writing a postcard ?

  (A) Three minutes
  (B) A full day
  (C) Four hours and five minutes
  (D) Half an hour
 23. What happens when the time to spent on 

some work increases ?
  (A) The work is done smoothly
  (B) The work is done leisurely
  (C) The work consumes all the time
  (D) The work needs additional time
 24. What does the expression ‘pillar-box’ 

stand for ?
  (A) A box attached to the pillar
  (B) A box in the pillar
  (C) Box office
  (D) A pillar-type postbox
 25. Who is the person likely to take more 

time to do work?
  (A) A busy man
  (B) A elderly person
  (C) A man of leisure
  (D) A exhausted person
 26. Point out the most appropriate explanation 

of the sentence, “Work expands so as to 
fill the time available for its completion.”

  (A) The more work there is to be done, 
the more the time needed

  (B) Whatever time is available for a 
given amount of work, all of it will 
be used

  (C) If you have more time, you can do 
more work

  (D) If you have some important work to 
do, you should always have some 
additional time

Direction (Q. No. 27 to 33)
Read the given passage and answer the 
question that follow by selecting the most 
appropriate option.

Scientists are extremely concerned about 
the changes taking place in our climate. The 
changes are said to be alarmingly rapid and 
the result of human activity whereas in the 
past it had been natural and much slower. 
The major problem is that the planet appears 
to be warming up (global warming). This 
is occurring at a rate unprecedented in the 
last 10,000 years. The implications are very 
serious. Rising temperatures could give rise 
to extremely high increase in the incidence 
of floods and droughts having defect on 
agriculture.
It is thought that this unusual warming of the 
earth has been caused by greenhouse gases 
such as carbon dioxide, being emitted into 
the atmosphere by car engines and modern 
industrial processes. Such gases not only add 
to the pollution of the atmosphere, but trap 
the heat of the sun leading to the warming 
up of the planet. It has been suggested that 
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industrialised countries would try to reduce the 
volume of greenhouse gas emissions and plant 
more trees to create sinks to absorb greenhouse 
gases.
 27. The changes taking place in our climate 

have become
  (A) a matter of celebration for the  

 scientists
  (B) a matter of worry for the scientists
  (C) something that does not have any  

 serious implication
  (D) something to be whiled away by the  

 scientists
 28. The antonym of the underlined word 

‘increase’ is
  (A) increment (B) reduction
  (C) smaller (D) rapid
 29. The climatic changes taking place today 

are different from earlier changes as :
  (A) today they are slower and more 

natural
  (B) today they are much faster and 

caused by the humans
  (C) today they do not threaten the 

humans because of their speed
  (D) today men are affected by them 

easily
 30. Increase in global temperatures may 

result in :
  (A) rains
  (B) destruction of crops
  (C) death of animals
  (D) a long period without rains
 31. The underlined word ‘slower’ in the 

passage is :
  (A) Noun (B) Verb
  (C) Adjective (D) Adverb
 32. Greenhouse gases refer to :
  (A) emission of gases by the cars alone
  (B) emission of gases by the industries  

 alone
  (C) trapping of heat of the sun by the  

 earth increasing temperatures alone
  (D) carbon dioxide being produced from  

 any source
 33. The underline word ‘sinks’ in the passage 

refers to
  (A) absorption of greenhouse gases by 

industries
  (B) reduction of greenhouse gas 

emissions
  (C) industrialised countries
  (D) the plantation for absorbing harmful 

gases
Direction (Q. Nos. 34 and 35)

Read the given passage carefully and answer 
the questions that follow by selecting the most 
appropriate option.

 Among these adventures, in the year 1887, was 
a youth called Jacob who was then twenty-one 
years old. Although so young he had already 
lived a risky and dangerous life. He had been 

a seaman and corssed the Pacific, and been a 
pirate and a river patrol-man, a coal shoveller 
at a power plant, a landless man and a ‘hobo’. 
He had tramped the United States and Canada, 
switch rides on freight trains, and dodging and 
fighting railway men and police and knew all 
about cold and hunger, and poverty and danger, 
and he had served a prison-sentence of thirty 
days.
 Though he did little else, he had a great love 
for books and words, and though he had found 
no gold in the Klondike, these things were 
soon to earn him a fortune. He came back from 
Alaksa after a year suffering from scurvy and 
without a penny in his pocket. He had, however, 
a great wealth of experience and he began to 
write stories about places he had seen and the 
people he had met. After months of hard work 
and hunger, he found success, Magazines began 
to accept his Alaskan stories.
 Soon, he was famous. In the next sixteen years, 
he published fifty books, and made and spent a 
million dollars. He died in 1916.
 34. In the given passage, what do you under-

stand by the word ‘Hobo’ ?

  (A) A hero	
  (B) Someone who does not have a job or 

a house and moves from one place 
to other

  (C) Someone who is brave	
  (D) Someone who fights with everyone 

and does not sit quietly ever
 35. ‘Scurvy’ means 
  (A) a disease resulting from a lack of 

vitamin C	
  (B) an injury caused to the body from 

freezing cold 

  (C) a sea-sickness	
  (D) a feeling of nausea

Direction (Q. No. 36 to 56)
Read the given poem carefully and answer the 
questions that follow by selecting the most 
appropriate option.

Poem-1
Hawk

All eyes are fearful of the spotted hawk, 
whose dappled wingspread opens to a 
phrase
that only victims gaping in the gaze
of Death occurring can recite. To stalk;
To plunge; to harvest; the denial-squawk 
of 
dying’s struggle; these are but a day’s
rebuke to hunger for the hawk, whose 
glazed
accord with Death admits no show of 
shock.

Death’s users know it is not theirs to 
own,
nor can they fathom all it means to die—
for young to know a different Death 
from old.
But when the spotted hawk’s last flight 
is flown, he too
becomes a novice, fear-struck by
the certain plummet once these feathers 
fold.—    Daniel Waters

 36. The denial-squawk refers to the :	
  (A) hawk’s response to the cry of its 

prey
  (B) helpless cry of its prey to avert 

death

  (C) warning call by the hawk be-
fore killing its prey

  (D) desperate, pitiable cry of the prey
 37. To the hawk, a day’s rebuke to hunger 

suggests that the bird :		
  (A) bows to hunger
  (B) causes death by preying on lesser 

animals
  (C) averts own death by killing and 

eating its prey
  (D) faces death fearlessly in contrast to 

its prey
 38. Here, glazed accord with Death means 

that :	
  (A) the prey meets death willingly
  (B) death is inevitable
  (C) death is in partnership with  starva-

tion
  (D) the hawk also becomes a victim of 

death at the end
 39. The word that is closest in meaning to 

the word dappled in the poem is :
  (A) spotted (B)  fearful
  (C)  glazed  (D) flown
 40. Here, he too becomes a novice suggests 

that :	
  (A) the hawk’s prey becomes a preda-

tor instead
  (B) all living creatures are potentially 

victims of others
  (C) death comes swiftly to the fearless 

hawk
  (D) the hawk also meets death, as weak 

and helpless as its prey
 41. The following line exemplifies the use 

of personification as a poetic device :	
  (A) Death’s users know it is not theirs 

to own.........
  (B) .... the certain plummet once these 

feathers fold
  (C) To stalk; to plunge; to harvest;.....
  (D) But when the spotted hawk’s last 

flight is flown.....
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Poem-2
Sprinkle, squish between my toes,

The smell of ocean to my nose.

I can feel each grain of sand,

It falls from air into my hand.

The shells I find along the shore,

Picked up by birds that fly and soar.

They sparkle like the ocean’s waves,

And carry sand from all the lakes.

I walk

That’s where my feet leave prints to be.

I walk all the way to the end of the  
         land,

The land that holds this beautiful sand.

–Morgan Swain
 42. The poem’s central theme is :

  (A) a recollection of a visit

  (B) an introspection by the writer

  (C) a factual description of nature

  (D) sharing experiences with nature

 43. Here, “to the end of the land” refers to 
the :

  (A) sky (B) horizon

  (C) sealine (D) land

 44. Her, “That’s where my feet leave prints 
to be” means that the writer :

  (A) expects to forget the experience

  (B) hopes to remember his visit

  (C) knows that everything is tempo-
rary

  (D) relives past visits

 45. The phrase in the poem that conveys the 
same meaning as “along the tip of the 
sea” is :

  (A) “air into my hand”

  (B) “like the ocean’s waves”

  (C) “each grain of sand”

  (D) “end of the land”

 46. The poetic device used in the line “They 
sparkle like the ocean’s waves” is a/an :

  (A) simile 

  (B) allegory

  (C) hyperbole 

  (D) exaggeration

Poem-3
Engrossed in thought of life and death,

I sat beside the dying bed.
Of a stubborn soul that would not quit,
Its frail and worn out aged shell,
Though gripped in writhing pain,
My thoughts then lifted me above

The din of the gathered multitude,
That broke the sacred solitude.
Of the struggling human soul,
At war with death itself.
At every breath it strove in vain,
To fight that dreadful foe.
Then each new breath did weaker grow,
Yet till the very end of it fought,

And fighting fell before its deathless foe.
 47. The words “stubborn soul” refers to :
  (A) a person afflicted with a dead by 

disease and fighting in vain, death
  (B) an argumentative person who does 

not accept other points of view
  (C) the soul which is stubborn and 

fighting everything
  (D) an adamant person who is refusing 

to take medicines
 48. Identify the figure of speech in the last 

line.
  (A) Metaphor
  (B) Simile
  (C) Alliteration
  (D) Personification
 49. ‘The din of the gathered multitude’ 

means :
  (A) the noise of the people who have 

gathered round the patient
  (B) the noise made by a crowd in a busy 

place
  (C) the sound made by the audience 

who have gathered
  (D) the sound that broke the silence in 

the room
 50. ‘That dreadful foe’ refers to :
  (A) a fierce animal 
  (B) a dangerous deadly illness
  (C) death itself

  (D) None of these

Poem-4
It takes much time to kill a tree

Not a simple job of the knife

will do it. It has grown

Slowly consuming the earth,

Rising out of it, feeding

upon its crust, absorbing

Years of sunlight, air, water

And out of its leperous hide

Sprouting leaves.

So hack and chop

But this alone won’t do it 

The bleeding bark will heal

And from close to the ground

Will rise curled green twigs

Miniature boughs

Which if unchecked will expand again

To former size.

No,

The root is to be pulled out.

 51. Killing a tree :

  (A) is very easy

  (B) is not as easy as one thinks

  (C) requires a knife

  (D) is a crime

 52. If the tree is hacked, it will ....... itself 
soon.

  (A) heal (B) kill

  (C) pull (D) green

 53. The expression ‘to kill a tree’ suggests :

  (A) the trees must be pulled out

  (B) it is heinous to uproot a live tree

  (C) killing a tree is easy

  (D) None of the above

 54. The expression ‘bleeding bark’ suggests:

  (A) the tree also bleeds

  (B) the tree gets hurt too

  (C) blood will come out of its bark

  (D) None of the above

 55. ‘Job’ in the poem is used as :

  (A) a noun 

  (B) a verb

  (C) a pronoun 

  (D) an adjective

 56. A tree can’t live without :

  (A) sunlight, minerals, air

  (B) air, water, minerals

  (C) sunlight, air, water

  (D) sunlight, water, minerals

ANSWERS

 1. (A) 2. (D) 3.  (C) 4.  (B) 5.  (D)
 6.  (A) 7. (B) 8. (A) 9.  (B) 10.  (B)
 11.  (D) 12. (D) 13. (B) 14.  (C) 15.  (B)
 16.  (D) 17.  (B) 18.  (A) 19. (B) 20. (C)
 21. (A) 22.  (B) 23.  (C) 24.  (D) 25. (C)
 26. (B) 27.  (B) 28.  (B) 29.  (B) 30.  (D)
 31.  (C) 32.  (D) 33.  (D) 34. (B)  35. ( A ) 
36.  (D) 37.  (D) 38. (B) 39.  (A) 40.  (C) 
41.  (D) 42.  (D) 43.  (C) 44.  (B) 45.  (D) 
46.  (A) 47.  (A) 48.  (A) 49.  (A) 50.  (B) 
51.  (B) 52.  (A) 53.  (B) 54.  (B) 55. (A) 
56.  (C)
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